Acc GSE Pre-Calculus Name:

Study Guide-Unit 5 Matrices Date: Per:
Determine the order of each matrix. Find the determinant, using the formula.
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3. [14] 46 T -5 0 -8 18 > 14.
Identify the indicated entry.
[ 8 4] Find the inverse, using the formula.
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Veri A and i ;
Fifid Sa: Eind 33 erify that A and B are inverses
-4~} -2 =1]
Add, subtract, and multiply by scalars. If not A=]| ;] B { ~ d
16 - 4

possible, indicate so.
Find the inverse, using the calculator.
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Use matrices to find the solutions to the
& 0 :
[—Ii 16 19] sl B =& systems of equations.
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10.If A= 1 0land| 3 0|, x+2y— z= 6!
find 24 + 4B. 9. x4+ y+ z= 7
Multiply, if possible. Use Cramer’s rule to solve the equation for z.
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Unit 5 Review Sheet

Matrices

Determine if the points given are collinear.

21- (Wit 7): (3’ _9}1 (-‘_ 3‘ 15)

22. i:g- B 10}1 (4> = 1)1 {13 5:}

Find the area of the triangle with given vertices.

23. (_-9, O:’ (d G‘l, ta 6‘!
G1).2 -9 61)

Find a value of x such that the triangle with
given vertices that has an area of 4.

24.

25. (-5,1) (0,2) (-2,x)
26.(—4,2) (-3,5) (—1,x)
Solve for x .

x—1

27| EZ|=0

x—=2 -1 _
[ 7" =0
Solve the word problems using matrices. Label

the rows and columns of the created matrices
and show your work.

29.

Mixture Problem A florist wants 10 amrange 2
dozen flowers consisting of two varieties cama-
tions and roses. Camnations cost $0.75 each and
roses cost $1.50 each. How many of each should
the florist use so that the arrangement will cos!

$12.00?7
30.

Break-Even Point A business invests $25,000 in
equipment to produce a product. Each uxit of the
product costs $3.75 to produce and 15 sold for
$525. How many items must be sold before the

business breaks sven?

Name:

Per:

31

Monufacturing A manufacturing company pro-
duces three models of a product that are shipped to
two warehouses. The number of units of model i that
are shipped to warehouse j is represmted by 2, in the
matrix

8200 7400 e
A = 6500 9800 |. .
5400 4800

The price per unit is represented by the matrix
B = [$10.25 $14.50 $17.75].

Use a graphing dtility to compute BA and interpret
the result.

Use the following vertex-edge graph to answer
the questions below.

1%

\

31. Write a matrix to represent the vertex-
edge graph.

32. Calculate AZ.

33. Use the matrix, A, to find the number of

ways you can travel between the towns J and M

using 2 roads.



